27.1 to 27.3 Derivatives of Trig and Inverse Trig Functions
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Differentiate the following:
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3. y = sin (tan~! z)

y'= sllan’y) . L . cos(de'y)

[+x* | +x?

dx

dx

dx

2

(tanx) = sec” x

(cotx) =

(tan~! )

2

— CSC™ T

_ 1
1422



5.po Y

4. y=3cos? (tan3z) = 3 [(05 me@x)]]

§ 232 [eslhandi)] - [sinBendn)] - sec’3x -3
= -1 co.s[“ov\’sx).sir\uoxn&() SGCZSX

Y|; ATARRTIE. VRS N, ;m\"x-L\
1 ,l x’-
(kx)*
b - llsir\"X'J]-Xz . J_ - X - \[|~x1 .:'m-\)(

’ hx* Hs
6. y:xcos_lé:)» V1— 22 'll_)<.(05—l>( - ““Kz)l)‘z'

. %
\l': x _=| F Cos X \ - i(l'Xz) L ('ZX)
-«

|~x

-1 -1
= - X 4 s X ¥ X - o8 X

e

— r

1-x* Vi-x

7.y :‘_a_:'(tan_l r)? -2z

ks v

oo 2] L ) 2

|+x1

= Ixdan'x *(ian'tx)l -2

[+ x*



